Varied Fluency Varied Fluency

Divide 2 Digits by 1 Digit 1 Divide 2 Digits by 1 Digit 1
Developing Developing

la. False; 36 +3=12 1b. False; 88 + 4 = 22

2a.12 2b. 11

3a. 22 3b. 11

4b.

2y

Expected Expected

5a. False; 66 + 6 =11 5b. False: 84 =+ 4 = 21
6a.84+7=12 éb.72 + 6=12

7a. 146 7b. 12

8b.

o

Greater Depth Greater Depth

9a.True: ?1 +7=13and 86 =8=12: 9b. False: 94 = 6=16and 96 =8=12:121is
13-12= not divisible by 8

10a0.75+5=15 10b.91+7 =13,
11a.96+6=16:847=12 11b.96+8=12: 68+4=17
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12a. @ 12b.



